

208-2  
BLU-MAR

Filters: Start Date - 2/18/2000; End Date - 2/18/2026; Business unit applies to: - Equipment Business Unit; Equipment - 524P JD WHEEL LOADER [6555]

<b>Work Order:</b>	28597	<b>Status:</b>	Transferred
<b>Equipment:</b>	524P JD WHEEL LOADER [6555]	<b>Serial Number:</b>	1DW524PAPMLZ12577
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Carla Merklin	<b>Start Date:</b>	3/8/2022
<b>Kms:</b>	N/A	<b>Stop Date:</b>	3/22/2022
<b>Hr:</b>	N/A		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	2.00 RT	Shop Mech Field	\$54.00	\$108.00
JASON HOLLINGSWORTH	4.50 RT	Shop Mech Field	\$54.00	\$243.00
TREVOR IRONSIDE	2.00 RT	Shop Weld Field	\$54.00	\$108.00
		<b>Total Labor</b>		\$459.00
		<b>Total Parts</b>		\$0.00
		<b>Total Equip</b>		\$0.00
		<b>Total Cost</b>		\$459.00

Item ID	Description	Completed By	Reported Hours
53170	6555 - hardsurface bucket	Carla Merklin	8.50

<b>Work Order:</b>	28725	<b>Status:</b>	Transferred
<b>Equipment:</b>	524P JD WHEEL LOADER [6555]	<b>Serial Number:</b>	1DW524PAPMLZ12577
<b>Work Location:</b>	Rocky Mountain House Shop	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Blair MacAulay	<b>Start Date:</b>	3/18/2022
<b>Kms:</b>	N/A	<b>Stop Date:</b>	3/21/2022
<b>Hr:</b>	N/A		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
BRENT EVANS	1.00 RT	Shop Mech Rky	\$50.00	\$50.00
		<b>Total Labor</b>		\$50.00
FILLER CAP [AT372657]	1.00 Each		\$36.15	\$36.15
FIRST AID KIT ALBERTA LEVEL1 (BAG) [F881N260]	1.00 Each		\$15.83	\$15.83
		<b>Total Parts</b>		\$51.98
		<b>Total Equip</b>		\$0.00
		<b>Total Cost</b>		\$101.98

Item ID	Description	Completed By	Reported Hours
53428	FAB HOSES FOR GRAPPLE	Brent Evans	1.00

**Work Order:** 31952  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** John Marshall  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DWS24PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 6/9/2022  
**Stop Date:** 6/9/2022

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00	RT Shop Lube	\$41.17	\$82.34
			<b>Total Labor</b>	\$82.34
FILTER AIR {P532966, AT178516} [AF25667]	1.00	Each	\$73.60	\$73.60
FILTER AIR {P533781, AT178517} [AF26114]	1.00	Each	\$57.35	\$57.35
FILTER LUBE [RE539279]	1.00	Each	\$38.38	\$38.38
			<b>Total Parts</b>	\$169.33
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$251.67

Item ID	Description	Completed By	Reported Hours
58547	0250 Hour Service	Carla Merklin	2.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.
- \* Sample engine oil.

**Work Order:** 34684  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:**  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DWS24PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
			<b>Total Labor</b>	\$0.00
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$0.00

Item ID	Description	Completed By	Reported Hours
61923	0500 Hour Service	Carla Merklin	0.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Change fuel filters.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

<b>Work Order:</b>	34759	<b>Status:</b>	Transferred
<b>Equipment:</b>	524P JD WHEEL LOADER [6555]	<b>Serial Number:</b>	1DW524PAPMLZ12577
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Stockton Pollitt	<b>Start Date:</b>	9/13/2022
<b>Kms:</b>	N/A	<b>Stop Date:</b>	9/13/2022
<b>Hr:</b>	N/A		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$41.17	\$82.34
			<b>Total Labor</b>	<b>\$82.34</b>
FILTER AIR {P532966, AT178516} [AF25667]	1.00 Each		\$36.63	\$36.63
FILTER AIR {P533781, AT178517} [AF26114]	1.00 Each		\$28.33	\$28.33
FILTER LUBE [RE539279]	1.00 Each		\$30.15	\$30.15
FUEL CAP [AT346094]	1.00 Each		\$143.28	\$143.28
			<b>Total Parts</b>	<b>\$238.39</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$320.73</b>

Item ID	Description	Completed By	Reported Hours
63796	0250 Hour Service	Carla Merklin	2.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.
- \* Sample engine oil.

**Work Order:** 36334  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DWS24PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 10/25/2022  
**Stop Date:** 10/25/2022

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00 RT	Shop Lube	\$41.17	\$164.68
LEVI LOOMIS	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			<b>Total Labor</b>	<b>\$283.36</b>
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each		\$13.66	\$13.66
FILTER AIR {P532966, AT178516} [AF25667]	1.00 Each		\$36.63	\$36.63
FILTER AIR {P533781, AT178517} [AF26114]	1.00 Each		\$25.28	\$25.28
FILTER CAB AIR {AF55757, P509445} [AT307501]	1.00 Each		\$19.69	\$19.69
FILTER CAB AIR {P621643, AT191102} [AF55770]	1.00 Each		\$20.69	\$20.69
FILTER FUEL [AT489745]	1.00 Each		\$28.59	\$28.59
FILTER FUEL {DZ115391} [RE551507]	1.00 Each		\$58.48	\$58.48
FILTER HYDRAULIC SPIN-ON {P550940, AM39653} [HF6164]	1.00 Each		\$8.65	\$8.65
FILTER LUBE [RE539279]	1.00 Each		\$30.15	\$30.15
FINAL FUEL FILTER {RE560681} [DZ115392]	1.00 Each		\$72.87	\$72.87
HYDROSTATIC OIL FILTER {AT367635, AT314164} [CHF35299]	2.00 Each		\$106.48	\$212.96
TRANS FILTER {AT468647, AT336140} [CHF35498]	1.00 Each		\$80.44	\$80.44
			<b>Total Parts</b>	<b>\$608.10</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$891.46</b>

Item ID	Description	Completed By	Reported Hours
66383	1000 Hour Service	Anthony Rodriguez	6.00

- \* Change all filters.
- \* Change engine oil.
- \* Change park brake oil.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

**Work Order:** 39990  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 2/27/2023  
**Stop Date:** 2/27/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
LEVI LOOMIS	0.50	RT Shop Mech Field	\$59.34	\$29.67
			<b>Total Labor</b>	\$29.67
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$29.67

Item ID	Description	Completed By	Reported Hours
72449	0250 Hour Service	Brittinni Lockard	0.50

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.
- \* Sample engine oil.

**Work Order:** 40164  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 3/3/2023  
**Stop Date:** 3/3/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	4.00	RT Shop Mech Field	\$59.34	\$237.36
			<b>Total Labor</b>	\$237.36
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$237.36

Item ID	Description	Completed By	Reported Hours
74114	6555 - HYDRAULIC HOSES	Brittinni Lockard	4.00

**Work Order:** 41509  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 4/17/2023  
**Stop Date:** 4/17/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	6.50 RT	Shop Mech Field	\$59.34	\$385.71
			<b>Total Labor</b>	\$385.71
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$385.71

Item ID	Description	Completed By	Reported Hours
76600	6555 - WELD STOPPERS ON SPOON FOR QUICK ATTACH PINS	Brittinni Lockard	6.50

**Work Order:** 41608  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 4/19/2023  
**Stop Date:** 4/19/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.00 RT	Shop Lube	\$41.17	\$82.34
			<b>Total Labor</b>	\$82.34
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00 Each		\$12.13	\$12.13
FILTER AIR PRIM {P532966, AT178516} [AF25667]	1.00 Each		\$96.02	\$96.02
FILTER AIR SEC {P533781, AT178517} [AF26114]	1.00 Each		\$29.33	\$29.33
FILTER FUEL [AT489745]	1.00 Each		\$33.10	\$33.10
FILTER FUEL {DZ115391} [RE551507]	1.00 Each		\$63.67	\$63.67
FILTER LUBE [RE539279]	1.00 Each		\$40.87	\$40.87
FINAL FUEL FILTER {RE560681} [DZ115392]	1.00 Each		\$70.36	\$70.36
			<b>Total Parts</b>	\$345.48
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$427.82

Item ID	Description	Completed By	Reported Hours
76770	0500 Hour Service	Anthony Rodriguez	2.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Change fuel filters.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

<b>Work Order:</b>	41738	<b>Status:</b>	Transferred
<b>Equipment:</b>	524P JD WHEEL LOADER [6555]	<b>Serial Number:</b>	1DW524PAPMLZ12577
<b>Work Location:</b>		<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Carla Merklin	<b>Start Date:</b>	
<b>Kms:</b>	N/A	<b>Stop Date:</b>	
<b>Hr:</b>	N/A		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
			<b>Total Labor</b>	\$0.00
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$0.00

**Notes:** 1373  
MACHINE CHECK OVER

Item ID	Description	Completed By	Reported Hours
76981	6555 - BRANDT INV 05 1561986	Carla Merklin	0.00

<b>Work Order:</b>	42571	<b>Status:</b>	Transferred
<b>Equipment:</b>	524P JD WHEEL LOADER [6555]	<b>Serial Number:</b>	1DW524PAPMLZ12577
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Carla Merklin	<b>Start Date:</b>	5/22/2023
<b>Kms:</b>	N/A	<b>Stop Date:</b>	5/22/2023
<b>Hr:</b>	N/A		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
JOHN BARGEN	2.50 RT	Shop Mech Field	\$59.34	\$148.35
KENDRICK ROBINSON	2.50 RT	Shop Mech Rky	\$49.05	\$122.63
			<b>Total Labor</b>	\$270.98
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$270.98

Item ID	Description	Completed By	Reported Hours
78554	6555 - fix quick attach	Brittinni Lockard	5.00

**Work Order:** 42693  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DWS24PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 5/25/2023  
**Stop Date:** 5/25/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
LEVI LOOMIS	0.50 RT	Shop Mech Field	\$59.34	\$29.67
			<b>Total Labor</b>	\$29.67
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$29.67

Item ID	Description	Completed By	Reported Hours
78396	0250 Hour Service	Brittinni Lockard	0.50

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.
- \* Sample engine oil.

**Work Order:** 43773  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Jeremy Detema  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 7/7/2023  
**Stop Date:** 7/7/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	3.00 RT	Shop Lube	\$41.17	\$123.51
			<b>Total Labor</b>	<b>\$123.51</b>
FILTER - SEAL (OIL) FOR B7322 AND P550779 [R502513]	1.00	Each	\$10.85	\$10.85
FILTER AIR {FLG: AF25667, JD: AT178516} [P532966]	1.00	Each	\$38.10	\$38.10
FILTER AIR {FLG: AF26114, JD: AT178517} [P533781]	1.00	Each	\$43.65	\$43.65
FILTER CAB AIR {AF55757, P509445} [AT307501]	1.00	Each	\$21.56	\$21.56
FILTER CAB AIR {P621643, AT191102} [AF55770]	1.00	Each	\$26.26	\$26.26
FILTER EL {RE540710} [DZ105100]	1.00	Each	\$73.39	\$73.39
FILTER FUEL {DZ115391} [RE551507]	1.00	Each	\$64.07	\$64.07
FILTER FUEL {FLG: FF5289, JD: AT223493,AT489745} [P551770]	1.00	Each	\$8.97	\$8.97
FILTER HYDRAULIC {FLG: HF6164, JD: AM39653} [P550940]	1.00	Each	\$8.44	\$8.44
FILTER HYDRAULIC {JD: AT367635, FLG: HF35299} [P174552]	1.00	Each	\$44.62	\$44.62
FILTER LUBE [RE539279]	1.00	Each	\$42.04	\$42.04
FINAL FUEL FILTER {RE560681} [DZ115392]	1.00	Each	\$70.69	\$70.69
TRANS FILTER {CHF35498, AT336140} [AT468647]	1.00	Each	\$87.80	\$87.80
			<b>Total Parts</b>	<b>\$540.44</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$663.95</b>

Item ID	Description	Completed By	Reported Hours
80543	1000 Hour Service	Anthony Rodriguez	3.00

- \* Change all filters.
- \* Change engine oil.
- \* Change park brake oil.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

**Work Order:** 45027  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 8/9/2023  
**Stop Date:** 8/9/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	1.00 RT	Shop Lube	\$41.17	\$41.17
			<b>Total Labor</b>	\$41.17
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$41.17

Item ID	Description	Completed By	Reported Hours
82596	0250 Hour Service	Brittinni Lockard	1.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.
- \* Sample engine oil.

**Work Order:** 45344  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Nathan Sak  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 8/17/2023  
**Stop Date:** 8/17/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	7.00 RT	Shop Tire Tech	\$36.33	\$254.31
			<b>Total Labor</b>	\$254.31
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$254.31

Item ID	Description	Completed By	Reported Hours
83208	Changeover	Nathan Sak	7.00

**Work Order:** 46161  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 9/13/2023  
**Stop Date:** 9/13/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	6.00 RT	Shop Lube	\$41.17	\$247.02
			<b>Total Labor</b>	<b>\$247.02</b>
FILTER AIR {FLG: AF25667, JD: AT178516} [P532966]	1.00 Each		\$38.08	\$38.08
FILTER AIR {FLG: AF26114, JD: AT178517} [P533781]	1.00 Each		\$34.85	\$34.85
FILTER CAB AIR {DON: P509445, FLG: AF55757} [AT307501]	1.00 Each		\$21.37	\$21.37
FILTER CAB AIR {JD: AT191102, FLG: AF55770} [P621643]	1.00 Each		\$13.50	\$13.50
FILTER FUEL {FLG: FF5289, JD: AT223493,AT489745} [P551770]	1.00 Each		\$8.47	\$8.47
FILTER FUEL {JD: DZ115391} [RE551507]	1.00 Each		\$63.47	\$63.47
FILTER FUEL {JD: RE560681} [DZ115392]	1.00 Each		\$70.52	\$70.52
FILTER LUBE {FLG: LF16460} [RE539279]	1.00 Each		\$41.64	\$41.64
FILTER LUBE SEAL (FOR B7322 & P550779) [R502513]	1.00 Each		\$10.57	\$10.57
			<b>Total Parts</b>	<b>\$302.48</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$549.50</b>

Item ID	Description	Completed By	Reported Hours
84849	0500 Hour Service	Anthony Rodriguez	6.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Change fuel filters.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

**Work Order:** 48320  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** N/A

**Status:** Transferred  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 11/14/2023  
**Stop Date:** 11/14/2023

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00 RT	Shop Lube	\$41.17	\$41.17
			<b>Total Labor</b>	\$41.17
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$41.17

Item ID	Description	Completed By	Reported Hours
87568	0250 Hour Service	Anthony Rodriguez	1.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.
- \* Sample engine oil.

**Work Order:** 52616  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 4/1/2024  
**Stop Date:** 4/1/2024

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	2.00 RT	Shop Mech Field	\$59.34	\$118.68
			<b>Total Labor</b>	\$118.68
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$118.68

Item ID	Description	Completed By	Reported Hours
96658	6555 - CHCK OVER	Carla Merklin	2.00

**Work Order:** 54188  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 5/17/2024  
**Stop Date:** 5/17/2024

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00 RT	Shop Lube	\$41.17	\$82.34
			<b>Total Labor</b>	<b>\$82.34</b>
FILTER AIR {FLG: AF25667, JD: AT178516} [P532966]	1.00	Each	\$38.09	\$38.09
FILTER AIR {FLG: AF26114, JD: AT178517} [P533781]	1.00	Each	\$29.45	\$29.45
FILTER CAB AIR FLG: AF55770} AT191102 [P621643]	1.00	Each	\$15.84	\$15.84
FILTER CAB AIR {DON: P509445, FLG: AF55757} [AT307501]	1.00	Each	\$22.63	\$22.63
FILTER FUEL {FLG: FF5289, JD: AT223493,AT489745} [P551770]	1.00	Each	\$9.04	\$9.04
FILTER FUEL {JD: RE551507} [DZ115391]	1.00	Each	\$63.77	\$63.77
FILTER FUEL {JD: RE560681} [DZ115392]	1.00	Each	\$70.58	\$70.58
FILTER HYDRAULIC {DON: P174552, FLG: HF35299} [AT367635]	2.00	Each	\$180.69	\$361.38
FILTER HYDRAULIC {FLG: HF35498, JD: AT336140} [AT468647]	1.00	Each	\$92.87	\$92.87
FILTER HYDRAULIC {FLG: HF6164, JD: AM39653} [P550940]	1.00	Each	\$9.37	\$9.37
FILTER SEAL (FILTER BAL: B7322 & DON: P550779) [R502513]	1.00	Each	\$9.86	\$9.86
			<b>Total Parts</b>	<b>\$722.89</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$805.23</b>

Item ID	Description	Completed By	Reported Hours
99044	1000 Hour Service	Andrew Matus	2.00

- \* Change all filters.
- \* Change engine oil.
- \* Change park brake oil.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

**Work Order:** 55652  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	1.00	RT Shop Lube	\$41.17	\$41.17
			<b>Total Labor</b>	\$41.17
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$41.17

Item ID	Description	Completed By	Reported Hours
100886	0250 Hour Service	Carla Merklin	1.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Check all fluids.
- \* Complete grease.
- \* Sample engine oil.

**Work Order:** 57819  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:**  
**Stop Date:**

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	2.00	RT Shop Lube	\$41.17	\$82.34
			<b>Total Labor</b>	\$82.34
FILTER AIR {FLG: AF25667, JD: AT178516} [P532966]	1.00	Each	\$38.25	\$38.25
FILTER AIR {FLG: AF26114, JD: AT178517} [P533781]	1.00	Each	\$29.33	\$29.33
FILTER FUEL {FLG: FF5289, JD: AT223493,AT489745} [P551770]	1.00	Each	\$9.03	\$9.03
FILTER FUEL {JD: DZ115391,RE551507} [DZ128543]	1.00	Each	\$88.34	\$88.34
FILTER FUEL {JD: RE560681} [DZ115392]	1.00	Each	\$70.65	\$70.65
FILTER LUBE {FLG: LF16460} [RE539279]	1.00	Each	\$42.05	\$42.05
FILTER SEAL (FILTER BAL: B7322 & DON: P550779) [R502513]	1.00	Each	\$8.55	\$8.55
			<b>Total Parts</b>	\$286.20
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$368.54

Item ID	Description	Completed By	Reported Hours
---------	-------------	--------------	----------------

105001 0500 Hour Service

Carla Merklin

2.00

- \* Change engine oil.
- \* Change engine filters -- oil and air.
- \* Change fuel filters.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

<b>Work Order:</b>	62161	<b>Status:</b>	Transferred
<b>Equipment:</b>	524P JD WHEEL LOADER [6555]	<b>Serial Number:</b>	1DW524PAPMLZ12577
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Carla Merklin	<b>Start Date:</b>	12/19/2024
<b>Kms:</b>	N/A	<b>Stop Date:</b>	12/19/2024
<b>Hr:</b>	N/A		

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	0.50 RT	Shop Lube	\$41.17	\$20.59
			<b>Total Labor</b>	\$20.59
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$20.59

Item ID	Description	Completed By	Reported Hours
109058	0250 Hour Service	Carla Merklin	0.50

- \* Sample engine oil.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 66102  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Jason Hollingsworth  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 4/15/2025  
**Stop Date:** 4/15/2025

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
JASON HOLLINGSWORTH	7.50 RT	Shop Mech Field	\$59.34	\$445.05
			<b>Total Labor</b>	\$445.05
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$445.05

Item ID	Description	Completed By	Reported Hours
120932	6555 Checkover	Jason Hollingsworth	7.50

**Work Order:** 72398  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 8/28/2025  
**Stop Date:** 8/28/2025

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	9.50 RT	Shop Lube	\$41.17	\$391.12
			<b>Total Labor</b>	<b>\$391.12</b>
FILTER AIR {FLG: AF25667, JD: AT178516} [P532966]	1.00	Each	\$41.72	\$41.72
FILTER AIR {FLG: AF26114, JD: AT178517} [P533781]	1.00	Each	\$33.78	\$33.78
FILTER CAB AIR FLG: AF55770} AT191102 [P621643]	1.00	Each	\$15.59	\$15.59
FILTER CAB AIR {DON: P509445, FLG: AF55757} [AT307501]	1.00	Each	\$25.80	\$25.80
FILTER FUEL {FLG: FF5289, JD: AT223493,AT489745} [P551770]	1.00	Each	\$9.98	\$9.98
FILTER FUEL {JD: DZ115391,RE551507} [DZ128543]	1.00	Each	\$99.65	\$99.65
FILTER FUEL {JD: RE560681} [DZ115392]	1.00	Each	\$82.09	\$82.09
FILTER HYDRAULIC {DON: P174552, FLG: HF35299} [AT367635]	2.00	Each	\$83.12	\$166.23
FILTER HYDRAULIC {FLG: HF35498, JD: AT336140, P764729} [AT468647]	1.00	Each	\$90.49	\$90.49
FILTER HYDRAULIC {FLG: HF6164, JD: AM39653} [P550940]	1.00	Each	\$9.78	\$9.78
FILTER HYDRAULIC BREATHER {JD: RE540710} [DZ105100]	1.00	Each	\$83.40	\$83.40
FILTER LUBE {FLG: LF16460, P551910} [RE539279]	1.00	Each	\$37.63	\$37.63
FILTER SEAL (FILTER BAL: B7322 & DON: P550779) [R502513]	1.00	Each	\$9.36	\$9.36
			<b>Total Parts</b>	<b>\$705.51</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$1,096.63</b>

Item ID	Description	Completed By	Reported Hours
131662	4000 Hour Service	Carla Merklin	9.50

- \* Change all filters.
- \* Change engine oil.
- \* Change hydraulic oil.
- \* Change transmission oil.
- \* Change differential oil.
- \* Change park brake oil.
- \* Check all fluids.
- \* Complete grease.
- \* Sample all oils.

**Work Order:** 73556  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 9/24/2025  
**Stop Date:** 9/24/2025

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
HERMANN KUKOWSKI	5.00 RT	Shop Mech Field	\$59.34	\$296.70
KURT WIRDA	5.00 RT	Shop Mech Field	\$59.34	\$296.70
			<b>Total Labor</b>	<b>\$593.40</b>
ESPAR FUEL PUMP 24V HS3 [22455101000]	1.00 Each		\$238.16	\$238.16
ESPAR HYDRONIC WATER PUMP 24V {252435992501, 252435270100} [252435992701]	1.00 Each		\$563.72	\$563.72
			<b>Total Parts</b>	<b>\$801.88</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$1,395.28</b>

Item ID	Description	Completed By	Reported Hours
133846	6555 - HYD LEAK	Brittinni Lockard	10.00

**Work Order:** 76318  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Brittinni Lockard  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 12/1/2025  
**Stop Date:** 12/1/2025

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
HERMANN KUKOWSKI	2.50 RT	Shop Mech Field	\$59.34	\$148.35
			<b>Total Labor</b>	<b>\$148.35</b>
			<b>Total Parts</b>	<b>\$0.00</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$148.35</b>

Item ID	Description	Completed By	Reported Hours
139250	6555 - BRAKE CODES	Brittinni Lockard	2.50

**Work Order:** 76536  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Carla Merklin  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 12/4/2025  
**Stop Date:** 12/4/2025

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
STEVEN MICKLEBORO	0.50	RT Shop Lube	\$41.17	\$20.59
			<b>Total Labor</b>	\$20.59
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$20.59

Item ID	Description	Completed By	Reported Hours
137670	0250 Hour Service	Carla Merklin	0.50

- \* Sample engine oil.
- \* Check all fluids.
- \* Complete grease.

**Work Order:** 77049  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Bart West  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 12/13/2025  
**Stop Date:** 12/13/2025

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
BARTLEY WEST	3.50	RT Shop Mech Field	\$59.34	\$207.69
			<b>Total Labor</b>	\$207.69
			<b>Total Parts</b>	\$0.00
			<b>Total Equip</b>	\$0.00
			<b>Total Cost</b>	\$207.69

Item ID	Description	Completed By	Reported Hours
140217	6555 checkover	Brittinni Lockard	3.50

**Work Order:** 77354  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Michael Dahir  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 12/23/2025  
**Stop Date:** 12/23/2025

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
MICHAEL DAHIR	2.00	RT Shop Mech OES	\$0.00	\$0.00
			<b>Total Labor</b>	<b>\$0.00</b>
ESPAR HYDRONIC WATER PUMP 24V {252435992501, 252435270100} [ESP_252435992701]	1.00	Each	\$551.63	\$551.63
			<b>Total Parts</b>	<b>\$551.63</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$551.63</b>

Item ID	Description	Completed By	Reported Hours
140788	6555 Check over	Brittinni Lockard	2.00

**Work Order:** 77720  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Matthew Gervais  
**Kms:** N/A  
**Hr:** N/A

**Status:** Scheduled  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 1/11/2026  
**Stop Date:** 1/11/2026

Item ID	Description	Completed By	Reported Hours
141459	6555 get running		18.00

**Work Order:** 78034  
**Equipment:** 524P JD WHEEL LOADER [6555]  
**Work Location:** Current Equipment Location  
**Created by:** Nathan Sak  
**Kms:** N/A  
**Hr:** N/A

**Status:** Closed  
**Serial Number:** 1DW524PAPMLZ12577  
**Business Unit:** Machinery  
**Start Date:** 1/19/2026  
**Stop Date:** 1/19/2026

**Work Order Cost Summary**

Description	Quantity	Labor Type	Rate	Total
NATHAN SAK	2.00	RT Shop Tire Tech	\$36.33	\$72.66
			<b>Total Labor</b>	<b>\$72.66</b>
			<b>Total Parts</b>	<b>\$0.00</b>
			<b>Total Equip</b>	<b>\$0.00</b>
			<b>Total Cost</b>	<b>\$72.66</b>

Item ID	Description	Completed By	Reported Hours
141921	Changeover	Nathan Sak	2.00

---

<b>Work Order:</b>	79937	<b>Status:</b>	Scheduled
<b>Equipment:</b>	524P JD WHEEL LOADER [6555]	<b>Serial Number:</b>	1DW524PAPMLZ12577
<b>Work Location:</b>	Current Equipment Location	<b>Business Unit:</b>	Machinery
<b>Created by:</b>	Hunter Tschetter	<b>Start Date:</b>	2/10/2026
<b>Kms:</b>	N/A	<b>Stop Date:</b>	2/10/2026
<b>Hr:</b>	N/A		

---

---

Item ID	Description	Completed By	Reported Hours
144717	6555 Strip Down		3.00

---